Worksheet

1. Choose the correct option.

a. (-1)101= .
i1 i, —1 iii. 101 iv. —101
-2
u[% =
5
. 4 . 25 L4 25
l. E 1. 4 II. 25 V. T
c. 19+204+30+40= )
i. 10 i. 0 i. 4 iv. 1
d. If (2732 =43 then x =
—1 1
i —1 i. 1 iii. & iv. >
e. (39x38)"=
1 1
i 1 ii. 5 i. O iv. 3

2. Fill in the blanks.

o\
The reciprocal of (Ej is

o

b. If648 =2mx 3" then m = ,andn=
c. (3°+49)(30-4%=

W -—

e. If(a?y*= T ,then a =
256

3. Express the following in the exponential form:

Q

q 2.a a a b b b b
=X =X =X =X —=X—=X—=X—
3 3 3 3 4 4 4 4
b. 4,4, 4., 4.4 4.4
9 9 9 9 9 9 9
x (= 5) % (= 5) x (= 5) x (= 5) x (- 5) (- 5)

c. (=9)x(=95)x(-9)
d. abxabxabxabxabxab
4, Simplify:



Evaluate:

10.

1.

12.

13.

14.

15.

(32)73><23 0 o (2210 (20\2 . (a2)3
A b. 20 x(32) - (3°) +(32)
22 % (3_2)7 (33 - 33) x 272

Find the value of the following:
a. (102-100) x 102 b. (576 x 56)*
c. (170 =70 x10° d. ((7)73)0
Simplify:
3 -2
_ -3 -9
10 “(10

Simplify and then find the reciprocal of the following.

8) (2 (o) (10
s) 3 7 <5)
-3 3
By what number should (lj must be multiplied to get [%j ?
15

373 278 3
- |[4 2 1 0 d (x-1
Ifx—[(ng X[(gjl X(gj , then find (x).
Simplify and express the answer in positive exponents only:
(11]6 (11)”
LI I L
15 15
&)
15
3 3 3
: ; -4 -2 1
Simplify: | —=| «|-—= —
oity: (5] +(55) *(3)

R
If n = -1, then find the value of [4]
120

~ -2
Simplify and find the value of x Tyt % xty (27}’) when x=—1and y=1.

x10y/6 63 x2y 6 Tl 3x2

Simplify and write the following in exponential form:

35 x 62 . (-3)° x 478 x 15
9 x 122 T 225 x 3% x 472
o. [(33+32)]x [(52)‘3 x 122} d. 20 (42)5— (42)0 + (32)3



Answers to Worksheet

1. a i b. ii c. iii d. i e i
-4
2. a (E] b. 3, 4 c.0 d. 1 e. 2
2
4 7
3. a (@j b. [ij c. (-5)° d. (ab)®
12 9
4. a. X3y b. (~=10)3 c. 28 d. a2
2 22
5. a. 377 b. "
6. a. 9900 b. 1 c. 0 d. 1
5 3 3
) -3 224 314 5 7
4 2
7. a. 10 b. [7:}3) 8.a s 2w b [J (5)
3
1 12 15 9
9 (J 10. (ZJ 11 (]
3 11
1 -32
12. 63 13. — 14, =<
81 243
1 4 3
6 5 a1 - 2% x 3 10 4 26 _
15. a.26x 3 b. 2 a7. s o 25 d. 410+ 36 _1





